

A SINGULARITY ANALYSIS OF POSITIVE SOLUTIONS TO AN EULER-LAGRANGE INTEGRAL SYSTEM

JERROLD BEBERNES, YUTIAN LEI AND CONGMING LI

ABSTRACT. In this paper we study the asymptotic behavior of the positive solutions of the following system of Euler-Lagrange equations of Hardy-Littlewood-Sobolev type in R^n

$$\begin{aligned} u(x) &= \frac{1}{|x|^\alpha} \int_{R^n} \frac{v(y)^q}{|y|^\beta |x-y|^\lambda} dy, \\ v(x) &= \frac{1}{|x|^\beta} \int_{R^n} \frac{u(y)^p}{|y|^\alpha |x-y|^\lambda} dy. \end{aligned}$$

We obtain the growth rate of the solutions around the origin and the decay rate near infinity. Some new cases beyond the work of Li and Lim [17] are studied here. In [15], the authors obtained the asymptotic estimates of solutions for the case $\alpha, \beta \geq 0$. In this paper, we extend the case $\alpha, \beta \geq 0$ to $\alpha + \beta \geq 0$ with some restriction, and we obtain asymptotic estimates for the solutions.

1. Introduction. Let $1 < r, s < \infty$, $0 < \lambda < n$, $\alpha + \beta \geq 0$, $\lambda + \alpha > 0$, $\lambda + \beta > 0$ and $\alpha + \beta + \lambda \leq n$. Let $\|f\|_p$ be the $L^p(R^n)$ norm of the function f . The weighted Hardy-Littlewood-Sobolev (WHLS) inequality states that (cf. [23])

$$(1.1) \quad \left| \int_{R^n} \int_{R^n} \frac{f(x)g(y)}{|x|^\alpha |x-y|^\lambda |y|^\beta} dx dy \right| \leq C_{\alpha, \beta, s, \lambda, n} \|f\|_r \|g\|_s$$

where

$$(1.2) \quad 1 - \frac{1}{r} - \frac{\lambda}{n} < \frac{\alpha}{n} < 1 - \frac{1}{r} \quad \text{and} \quad \frac{1}{r} + \frac{1}{s} + \frac{\lambda + \alpha + \beta}{n} = 2.$$

In order to obtain the best constant in the WHLS inequality (1.1), we maximize the functional

$$J(f, g) = \int_{R^n} \int_{R^n} \frac{f(x)g(y)}{|x|^\alpha |x-y|^\lambda |y|^\beta} dx dy$$

2010 AMS *Mathematics subject classification.* Primary 45E10, 45G05.
Keywords and phrases. Integral equations, weighted Hardy-Littlewood-Sobolev inequality, asymptotic analysis.

Received by the editors on June 16, 2010.

under the constraints $\|f\|_r = \|g\|_s = 1$. The corresponding Euler-Lagrange equations are given by the following integral system:

$$(1.3) \quad \begin{cases} \lambda_1 r f(x)^{r-1} = 1/|x|^\alpha \int_{R^n} (g(y))/|y|^\beta |x - y|^\lambda dy \\ \lambda_2 s g(x)^{s-1} = 1/|x|^\beta \int_{R^n} f(y)/(|y|^\alpha |x - y|^\lambda) dy \end{cases}$$

where $f, g \geq 0$, $x \in R^n$ and $\lambda_1 r = \lambda_2 s = J(f, g)$. Set $u = c_1 f^{r-1}$, $v = c_2 g^{s-1}$, $1/(p+1) = 1 - (1/r)$, $1/(q+1) = 1 - (1/s)$ with $pq \neq 1$. By a proper choice of constants c_1 and c_2 , (1.3) becomes

$$(1.4) \quad \begin{cases} u(x) = 1/|x|^\alpha \int_{R^n} (v(y)^q)/|y|^\beta |x - y|^\lambda dy \\ v(x) = 1/|x|^\beta \int_{R^n} (u(y)^p)/|y|^\alpha |x - y|^\lambda dy \end{cases}$$

where $\alpha + \beta + \lambda \leq n$, and

$$(1.5) \quad \begin{cases} u, v \geq 0, 0 < p, q < \infty, 0 < \lambda < n, \alpha + \beta \geq 0, \\ \alpha/n < 1/(p+1) < (\lambda + \alpha)/n, 1/(p+1) + 1/(q+1) = (\lambda + \alpha + \beta)/n. \end{cases}$$

This paper is concerned with the properties of positive solutions of the integral equations (1.4). Jin and Li [13] studied the symmetry of the solutions to the more general system of integral equations (1.4) for $\alpha, \beta \geq 0$. They proved that u and v are radially symmetric and decreasing about the origin 0. The regularity of the solutions to (1.4) is discussed in the joint paper of Chen, Jin, Li and Lim [3]. In [3], the integrability intervals of the solutions for $\alpha, \beta \geq 0$ are obtained. In a subsequent paper, Jin and Li [14] also thoroughly analyzed the regularity of the solutions to (1.4) and determined the optimal integrability intervals of the solutions for $\alpha, \beta \geq 0$. The optimal integrability and the radial symmetry are needed for the classification of the regular solutions of the system (1.4) associated with WHLS inequality [7].

The following integrability result proved in [14] plays an important role in this paper.

Proposition 1.1. *Let $(u, v) \in L^{p+1}(R^n) \times L^{q+1}(R^n)$ be a pair of positive solutions of (1.4). Assume that $p, q > 1$, $\alpha + \beta \geq 0$ with $\beta < 0$, and $\bar{\lambda} = \lambda + \alpha + \beta$, then for $1 \leq r, s < \infty$,*

$$u \in L^r(R^n) \quad \text{and} \quad v \in L^s(R^n),$$

provided

(i) $1/r \in ((\alpha/n), (\bar{\lambda}/n))$ and $1/s \in (0, (\min\{(p+1)\bar{\lambda} - n, \lambda + \beta\})/n)$ when $(q+1)(\lambda + \beta) \geq 2n$.

(ii) $1/r \in ((\alpha/n), (\min\{\bar{\lambda}, q(\lambda + \beta) + \bar{\lambda} - n\})/n)$ and $1/s \in ((\max\{0, p\alpha + \bar{\lambda} - n\})/n, (\lambda + \beta)/n)$ when $(q+1)(\lambda + \beta) < 2n$.

We wish now to study the asymptotic behavior of solutions of (1.4) in a neighborhood of the origin and at infinity.

Definition 1. A function u is asymptotic to $A/|x|^s$ at $x = 0$, written

$$(1.6) \quad u(x) \simeq \frac{A}{|x|^s} \text{ at } |x| \simeq 0,$$

if $\lim_{|x| \rightarrow 0} |x|^s u(x) = A$ for a positive number s and $0 < A < \infty$.

Definition 2. A function u is asymptotic to $B/|x|^t$ near $x = \infty$, written

$$(1.7) \quad u(x) \simeq \frac{B}{|x|^t} \text{ at } |x| \simeq \infty,$$

if $\lim_{|x| \rightarrow \infty} |x|^t u(x) = B$ for a positive number t and $0 < B < \infty$.

Remark 1.1. If

$$(1.8) \quad p \geq 1, \quad q \geq 1, \quad pq \neq 1,$$

then either

$$(1.9) \quad \lambda + \alpha(p+1) < n \text{ or } \lambda + \beta(q+1) < n$$

always holds. For if it fails, then $\lambda + \beta(q+1) \geq n$ and $\lambda + \alpha(p+1) \geq n$. This implies $\alpha + \beta \geq (n - \lambda)(1/(p+1) + 1/(q+1))$. Applying (1.5), $\lambda = n(1/(p+1) + 1/(q+1)) - (\alpha + \beta) \leq \lambda(1/(p+1) + 1/(q+1))$. Thus, $1/(p+1) + 1/(q+1) \geq 1$, which is a contradiction to (1.8).

Hence, the condition $\lambda + \beta(q+1) < n$ may be assumed for small $|x|$ without loss of generality in Theorem 1.2.

Theorem 1.2. *Let $(u, v) \in L^{p+1}(R^n) \times L^{q+1}(R^n)$ be a pair of positive solutions of the system (1.4)–(1.5). Suppose that $p \geq 1, q \geq 1, pq \neq 1, \alpha + \beta \geq 0$ and $\lambda + (q+1)\beta < n$. If either one of the following conditions holds*

(H1) $\lambda + (p+1)\alpha < n + \alpha,$

(H2) $\lambda + (p+1)\alpha \geq n + \alpha$ and $\alpha + \beta + (\beta/q(p+1)) \geq 0,$

then for small $|x|,$

$$(1.10) \quad u(x) \simeq \frac{A_0}{|x|^\alpha},$$

and

$$(1.11) \quad v(x) \simeq \begin{cases} A_1/|x|^\beta & \text{if } \lambda + \alpha(p+1) < n \\ (A_2|\ln|x||)/|x|^\beta & \text{if } \lambda + \alpha(p+1) = n \\ A_3/|x|^{\alpha(p+1)+\beta+\lambda-n} & \text{if } \lambda + \alpha(p+1) > n \end{cases}$$

where $A_0 = \int_{R^n} v^q(y)/|y|^{\lambda+\beta} dy, A_1 = \int_{R^n} u^p(y)/|y|^{\lambda+\alpha} dy, A_2 = |S^{n-1}|(\int_{R^n} (v^q(y)/|y|^{\lambda+\beta}) dy)^p,$

$$A_3 = \left(\int_{R^n} \frac{v^q(y)}{|y|^{\lambda+\beta}} dy \right)^p \int_{R^n} \frac{dz}{|z|^{\alpha(p+1)}|e-z|^\lambda},$$

e is a unit vector in $R^n,$ and $|S^{n-1}|$ is the surface area of the unit sphere.

Remark 1.2. For $|x|$ large, we utilize a Kelvin-type transform to change the problem from the origin to one at infinity. With this transform, we derive a new system of integral equations with indices $\bar{\alpha}, \bar{\beta}, p, q,$ satisfying (1.5). From the definition of $\bar{\alpha} = (2n/p+1) - \alpha - \lambda, \bar{\beta} = (2n/q+1) - \beta - \lambda,$ we can observe directly that the condition $\lambda + \bar{\alpha}(p+1) < n$ or $\lambda + \bar{\beta}(q+1) < n$ is equivalent to

$$(1.12) \quad \lambda p + \alpha(p+1) > n \text{ or } \lambda q + \beta(q+1) > n,$$

respectively. We claim that statement (1.2) always holds, if (1.8) is assumed. For, if not, then $\lambda q + \beta(q+1) \leq n$ and $\lambda p + \alpha(p+1) \leq n,$ implying $(\lambda + \beta)(q+1) \leq n + \lambda$ and $(\lambda + \alpha)(p+1) \leq n + \lambda.$

Then, by (1.5), we have $(\lambda + \alpha + \beta)/n = 1/(p + 1) + 1/(q + 1) \geq ((\lambda + \alpha + \beta) + \lambda)/(n + \lambda)$. This then leads to a contradiction, since we infer from $1/(p + 1) + 1/(q + 1) = (\lambda + \alpha + \beta/n) < 1$ that $(\lambda + \alpha + \beta)/n < ((\lambda + \alpha + \beta) + \lambda)/(n + \lambda)$. Consequently, without loss of generality, we may assume $\lambda q + \beta(q + 1) > n$ for large $|x|$ in the following theorem.

Theorem 1.3. *Let $(u, v) \in L^{p+1}(R^n) \times L^{q+1}(R^n)$ be a pair of positive solutions of system (1.4) with (1.5). Suppose that $p \geq 1, q \geq 1, pq \neq 1, \alpha + \beta \geq 0$ and $\lambda q + \beta(q + 1) > n$. If one of the following conditions holds*

(H3) $1/(p + 1) \geq (\lambda + \alpha)/2n$ and $1/(q + 1) \geq (\lambda + \beta)/2n,$

(H4) $1/(q + 1) < (\lambda + \beta)/2n$ and $p\lambda + (p + 1)\alpha > \lambda + \alpha + n(p - 1)/(p + 1),$

(H5) $1/(q + 1) < (\lambda + \beta)/2n, p\lambda + (p + 1)\alpha \leq \lambda + \alpha + n(p - 1)/(p + 1)$ and $\alpha + \beta + (1/(q(p + 1)))((2n/q + 1) - \lambda - \beta) \geq 0,$

then for large $|x|,$

$$(1.13) \quad u(x) \simeq \frac{B_0}{|x|^{\lambda+\alpha}},$$

and

$$(1.14) \quad v(x) \simeq \begin{cases} B_1/|x|^{\lambda+\beta} & \text{if } \lambda p + \alpha(p + 1) > n \\ B_2|\ln|x||/|x|^{\lambda+\beta} & \text{if } \lambda p + \alpha(p + 1) = n \\ B_3/|x|^{(\alpha+\lambda)(p+1)+\beta-n} & \text{if } \lambda p + \alpha(p + 1) < n \end{cases}$$

where $B_0 = \int_{R^n} (v^q(y)/|y|^\beta) dy, B_1 = \int_{R^n} (u^p(y)/|y|^\alpha) dy, B_2 = |S^{n-1}|(\int_{R^n} (v^q(y)/|y|^\beta) dy)^p$ and

$$B_3 = \left(\int_{R^n} \frac{v^q(y)}{|y|^\beta} dy \right)^p \int_{R^n} \frac{dz}{|z|^{2n-(\alpha+\lambda)(p+1)}|e - z|^\lambda}.$$

Remark 1.3. By the Kelvin transform, (H3) is equivalent to $\bar{\alpha}, \bar{\beta} \geq 0,$ (H4) is equivalent to $\bar{\beta} < 0$ and (H1), and (H5) is equivalent to $\bar{\beta} < 0$ and (H2).

Remark 1.4. (i) For $\alpha, \beta \geq 0$, analogous asymptotic results were obtained in [17], using the regularity result from [3]. In paper [15], the authors removed the condition $1/s \in ((\beta/n), (\lambda + \beta)/n)$ imposed by Li and Lim in [17]. Using the radial symmetry and the integrability intervals of the solutions, they calculated directly the decay rates of $u(x)$ and $v(x)$ as $|x| \rightarrow \infty$ instead of using the Kelvin transform as in [17]. Consequently, [15] completes the study of the asymptotic behavior of positive solutions for $\alpha, \beta \geq 0$.

(ii) When $\beta < 0$ and $\alpha + \beta \geq 0$, the asymptotic behavior of u and v with $\beta < 0$ is more complicated than that for $\beta \geq 0$. In fact, when $\alpha + \beta \geq 0$ and $\beta < 0$, whether the solutions are radially symmetric and decreasing remains an open question. The idea in [15] cannot be used here to obtain the asymptotic estimates of the solutions. In addition, (1.11) shows that v decays to zero near the origin when $\lambda + (p+1)\alpha < n - \beta$. On the contrary, v goes to infinity near the origin when $\lambda + (p+1)\alpha > n - \beta$.

(iii) When $\beta < 0$ and $\alpha + \beta \geq 0$, the paper [17] applied the regularity results given in [14] to obtain the behavior (1.10) and (1.11) with $\lambda + \alpha(p+1) \leq n - \beta$. We improve the asymptotic results from $\lambda + \alpha(p+1) \leq n - \beta$ to $\lambda + \alpha(p+1) < n + \alpha$ using more elaborate estimates. In the case of $\lambda + \alpha(p+1) \geq n + \alpha$, (1.10) and (1.11) still hold as long as $\alpha + \beta + (\beta/(q(p+1))) \geq 0$. It is unknown whether (1.10) and (1.11) remain true when $\alpha + \beta + (\beta/(q(p+1))) < 0$.

By virtue of Remark 1.4 (i), we only need to consider the case of $\beta < 0$ and $\alpha + \beta \geq 0$. According to Proposition 1.1, v has two different integrability intervals. We will study the asymptotic behavior as $|x| \rightarrow 0$ in three cases:

Case I: $\lambda + (p+1)\alpha \leq n - \beta$;

Case II: $n - \beta < \lambda + (p+1)\alpha < n + \alpha$;

Case III: $\lambda + (p+1)\alpha \geq n + \alpha$ and $\alpha + \beta + \beta/(q(p+1)) \geq 0$

in Sections 2, 3 and 4, respectively. By applying the Kelvin transform and Theorem 1.2, we will prove Theorem 1.3 in Section 5.

2. Singularity analysis in Case I. In this section, assume that $(u, v) \in L^{p+1}(R^n) \times L^{q+1}(R^n)$ is a pair of positive solutions of the system (1.4) satisfying (1.5), $p \geq 1$, $q \geq 1$, $pq \neq 1$, $\beta < 0$ and $\alpha + \beta \geq 0$.

First, we prove two propositions which are true in all the three cases.

Proposition 2.1.

$$\int_{R^n \setminus B_1} \frac{v^q(y) dy}{|y|^{\lambda+\beta}} < \infty; \quad \int_{R^n \setminus B_1} \frac{u^p(y) dy}{|y|^{\lambda+\alpha}} < \infty.$$

Proof. If $x \in B_{1/2} \setminus B_{1/4}$ and $y \in R^n \setminus B_1$, $|x - y| \leq C|y|$. Then,

$$\int_{R^n \setminus B_1} \frac{v^q(y) dy}{|y|^{\lambda+\beta}} \leq C \int_{R^n \setminus B_1} \frac{v^q(y) dy}{|y|^\beta |x - y|^\lambda},$$

as long as $x \in B_{1/2} \setminus B_{1/4}$. Integrating on $B_{1/2} \setminus B_{1/4}$ yields

$$\begin{aligned} & |B_{1/2} \setminus B_{1/4}| \int_{R^n \setminus B_1} \frac{v^q(y) dy}{|y|^{\lambda+\beta}} \\ & \leq C \int_{B_{1/2} \setminus B_{1/4}} \left(\int_{R^n \setminus B_1} \frac{v^q(y) dy}{|y|^\beta |x - y|^\lambda} \right) dx \\ & \leq C \int_{B_{1/2} \setminus B_{1/4}} |x|^\alpha u(x) dx \\ & \leq C \left(\int_{B_{1/2} \setminus B_{1/4}} u^{p+1} dx \right)^{1/(p+1)} |B_{1/2} \setminus B_{1/4}|^{p/p+1} < \infty, \end{aligned}$$

proving $\int_{R^n \setminus B_1} (v^q(y) dy)/|y|^{\lambda+\beta}$ is finite. Similarly, $\int_{R^n \setminus B_1} (u^p(y) dy)/|y|^{\lambda+\alpha}$ is also finite.

Proposition 2.2. $A_0 := \int_{R^n} (v^q(y) dy)/|y|^{\beta+\lambda} < \infty$.

Proof. Applying Hölder's inequality with $1/s + 1/s' = 1$,

$$\int_{B_1} \frac{v^q(y) dy}{|y|^{\beta+\lambda}} \leq \left(\int_{B_1} v^{qs}(y) dy \right)^{1/s} \left(\int_{B_1} |y|^{-(\lambda+\beta)s'} dy \right)^{1/s'}.$$

In Case I, by Proposition 1.1, we can choose $1/s$ so small that $(\lambda+\beta)s' < n$. Thus, we have

$$(2.1) \quad \int_{B_1} \frac{v^q(y) dy}{|y|^{\beta+\lambda}} < \infty.$$

In Cases II and III, using Proposition 1.1, we only need to choose $1/s$ sufficiently close to $(q(p\alpha + \bar{\lambda} - n))/n$. To verify $(\lambda + \beta)s' < n$, it is sufficient to prove

$$(2.2) \quad \lambda + \beta < n - q(p\alpha + \bar{\lambda} - n)$$

or $(pq-1)\alpha < (q+1)(n-\bar{\lambda})$. Multiplying with $1/(p+1)(q+1)$ and noting $(1/p+1) + (1/q+1) = (\bar{\lambda})/n$, we know that this inequality is true if and only if $(1/p+1) > (\alpha/n)$. Therefore, (2.1) follows. Combined with Proposition 2.1, the proof of Proposition 2.2 is completed.

In the remainder of this section, we will prove (1.10) and (1.11) in Case I.

Proposition 2.3. $u(x) \simeq |x|^{-\alpha} A_0$ as $|x| \rightarrow 0$.

Proof. By Definition 1, we only need to prove that as $|x| \rightarrow 0$,

$$(2.3) \quad \left| \int_{R^n} \frac{v^q(y)}{|y|^\beta |x-y|^\lambda} dy - \int_{R^n} \frac{v^q(y)}{|y|^{\lambda+\beta}} dy \right| \rightarrow 0.$$

For $x \in B_\delta := B_\delta(0) \subset R^n$, δ sufficiently small,

$$\begin{aligned} & \left| \int_{R^n} \frac{v^q(y)}{|y|^\beta |x-y|^\lambda} dy - \int_{R^n} \frac{v^q(y)}{|y|^{\lambda+\beta}} dy \right| \\ & \leq \int_{B_\delta} \left(\frac{v^q(y)}{|y|^\beta |x-y|^\lambda} + \frac{v^q(y)}{|y|^{\lambda+\beta}} \right) dy \\ & \quad + \int_{R^n \setminus B_\delta} \left| \frac{v^q(y)}{|y|^\beta |x-y|^\lambda} - \frac{v^q(y)}{|y|^{\lambda+\beta}} \right| dy \\ & =: J_1 + J_2. \end{aligned}$$

By Hölder’s inequality,

$$\int_{B_\delta} \frac{v^q(y) dy}{|x-y|^\lambda} \leq \left(\int_{B_\delta} v^{qs}(y) dy \right)^{1/s} \left(\int_{B_\delta} |x-y|^{-s'\lambda} dy \right)^{1/s'}$$

for $(1/s) + (1/s') = 1$. In Case I, we can use Proposition 1.1 by choosing $1/s$ so small that $s'\lambda < n$. Then, for any given $\delta > 0$,

$$(2.4) \quad \int_{B_\delta} \frac{v^q(y) dy}{|x-y|^\lambda} < \infty,$$

when $|x|$ is small enough. By virtue of $\beta < 0$, $|y|^{-\beta} \leq \delta^{-\beta}$ if $y \in B_\delta$. By Proposition 2.2 and (2.4), we have

$$J_1 \leq C(\delta) \rightarrow 0 \quad \text{as } \delta \rightarrow 0.$$

Using Lebesgue’s bounded convergence theorem, we prove that for each fixed B_δ ,

$$J_2 \rightarrow 0 \quad \text{as } |x| \rightarrow 0.$$

In fact, one can easily see that $v^q(y)/(|y|^\beta|x - y|^\lambda) \leq C(v^q(y)/|y|^{\lambda+\beta})$ for $|y| \geq \delta$ and recall that A_0 is finite. This proves (2.3) and Proposition 2.3 follows.

Next we prove (1.11) in Case I. Proposition 2.3 implies that, for fixed small δ ,

$$(2.5) \quad u(x) = \frac{A_0 + o(1)}{|x|^\alpha}, \quad \text{for } |x| \leq \delta.$$

We can use (2.5) to estimate the asymptotic properties of v near the origin.

Clearly, Case I divides into three subcases:

- (1) $\lambda + \alpha(p + 1) < n$;
- (2) $\lambda + \alpha(p + 1) = n$;
- (3) $n < \lambda + \alpha(p + 1) \leq n - \beta$.

Proposition 2.4. *If $\lambda + \alpha(p + 1) < n$, then $A_1 < \infty$, and $v(x) \simeq |x|^{-\beta} A_1$ as $|x| \rightarrow 0$.*

Proof. By Hölder’s inequality,

$$\int_{B_1} \frac{u^p(y) dy}{|y|^{\alpha+\lambda}} \leq \left(\int_{B_1} u^{pr}(y) dy \right)^{1/r} \left(\int_{B_1} |y|^{-(\lambda+\alpha)r'} dy \right)^{1/r'}$$

with $(1/r) + (1/r') = 1$. Using Proposition 1.1, we can choose $1/r$ approaching $p\alpha/n$ such that $(\lambda + \alpha)r' < n$. This is easily verified, since $\lambda + (p + 1)\alpha < n$. Therefore, the integral above is finite. Combined with Proposition 2.1 we see that $A_1 < \infty$.

Using (2.5), we obtain

$$|x|^\beta v(x) = \int_{R^n} \frac{u^p(y)}{|y|^\alpha |x-y|^\lambda} dy = \int_{B_\delta} \frac{(A_0 + o(1))^p}{|y|^{\alpha(p+1)} |x-y|^\lambda} dy + \int_{R^n \setminus B_\delta} \frac{u^p(y)}{|y|^\alpha |x-y|^\lambda} dy.$$

By means of Young’s inequality and the condition $\lambda + \alpha(p + 1) < n$, we have, when $|x| \rightarrow 0$ and $\delta \rightarrow 0$,

$$\int_{B_\delta} \frac{(A_0 + o(1))^p}{|y|^{\alpha(p+1)} |x-y|^\lambda} dy \leq C(A_0 + o(1))^p \delta^{n-\lambda-\alpha(p+1)} \rightarrow 0.$$

By Lebesgue’s bounded convergence theorem as $|x| \rightarrow 0$ and then $\delta \rightarrow 0$,

$$\int_{R^n \setminus B_\delta} \frac{u^p(y)}{|y|^\alpha |x-y|^\lambda} dy \rightarrow A_1.$$

Combining these results we see that $|x|^\beta v(x) \simeq A_1$ as $|x| \rightarrow 0$. This completes the proof of Proposition 2.4.

Proposition 2.5. *If $\lambda + \alpha(p + 1) = n$, then $v(x) \simeq |x|^{-\beta} A_2 |\ln |x||$ when $|x| \rightarrow 0$.*

Proof. If $\lambda + (p + 1)\alpha = n$, A_2 is a constant since it depends only on A_0 . Using (2.5), a change of variables and Proposition 2.1, we deduce that

$$(2.6) \quad \begin{aligned} \frac{|x|^\beta}{-\ln |x|} v(x) &= \frac{1}{-\ln |x|} \int_{B_\delta} \frac{(A_0 + o(1))^p}{|y|^{n-\lambda} |x-y|^\lambda} dy \\ &+ \frac{1}{-\ln |x|} \int_{R^n \setminus B_\delta} \frac{u^p(y)}{|y|^\alpha |x-y|^\lambda} dy \\ &\leq \frac{(A_0 + o(1))^p}{-\ln |x|} \int_{B_{\delta/|x|}} \frac{dz}{|z|^{n-\lambda} |e-z|^\lambda} + \frac{C}{-\ln |x|}. \end{aligned}$$

Now, fix any point $w \in \partial B_1$. Employing polar coordinates, we arrive at

$$\begin{aligned} & \frac{1}{-\ln|x|} \int_{B_{\delta/|x|}} \frac{dz}{|z|^{n-\lambda}|e-z|^\lambda} \\ &= \frac{1}{-\ln|x|} \int_{S^{n-1}} d\omega \int_0^{\delta/|x|} \frac{r^{n-1}}{r^{n-\lambda}|e-rw|^\lambda} dr \\ &= \frac{1}{-\ln|x|} \int_{S^{n-1}} d\omega \left(\int_0^R \frac{r^{\lambda-1}}{|e-rw|^\lambda} dr + \int_R^{\delta/|x|} \frac{dr^\lambda}{\lambda|e-rw|^\lambda} \right) \\ &= \frac{(1+\theta/R)^\lambda}{-\ln|x|} \int_{S^{n-1}} d\omega \left(C(R) + \int_R^{\delta/|x|} \frac{dr^\lambda}{\lambda r^\lambda} \right) \\ &\rightarrow (1+\theta/R)^\lambda |S^{n-1}|, \end{aligned}$$

as $|x| \rightarrow 0$. The last equality holds since $r \geq R$ implies $1 - (1/R) \leq |e - rw|/r \leq 1 + (1/R)$. Here $\theta \in (-1, 1)$, and $|S^{n-1}|$ denotes the surface area of the unit sphere. Consequently (2.6) yields

$$\begin{aligned} \frac{|x|^\beta}{-\ln|x|} v(x) &\rightarrow (A_0 + o(1))^p (1 + \theta/R)^\lambda |S^{n-1}| \quad \text{as } |x| \rightarrow 0 \\ &\rightarrow (A_0)^p |S^{n-1}| \quad \text{as } \delta \rightarrow 0, R \rightarrow \infty, \end{aligned}$$

proving Proposition 2.5.

Proposition 2.6. *If $n < \lambda + \alpha(p + 1) \leq n - \beta$, then $A_3 < \infty$. Moreover, when $|x| \rightarrow 0$, $v(x) \simeq |x|^{n-\alpha(p+1)-\beta\lambda} A_3$.*

Proof. Since $\alpha(p + 1) < n$ near the origin; $\lambda < n$ near e and $\lambda + \alpha(p + 1) > n$ near infinity,

$$A_3 := \left(\int_{R^n} \frac{v^q(y)}{|y|^{\lambda+\beta}} dy \right)^p \int_{R^n} \frac{dz}{|z|^{\alpha(p+1)}|e-z|^\lambda} < \infty.$$

Let $s = \alpha(p + 1) + \lambda - n$. Then, for a fixed B_δ ,

$$\begin{aligned} & |x|^s \int_{R^n} \frac{u^p(y)dy}{|y|^\alpha|x-y|^\lambda} \\ &= |x|^s \int_{B_\delta} \frac{(A_0 + o(1))^p dy}{|y|^{\alpha(p+1)}|x-y|^\lambda} + |x|^s \int_{R^n \setminus B_\delta} \frac{u^p(y)dy}{|y|^\alpha|x-y|^\lambda} \\ &=: K_1 + K_2. \end{aligned}$$

By Proposition 2.1 and $s > 0$,

$$K_2 \leq |x|^s \int_{R^n \setminus B_\delta} \frac{u^p(y)}{|y|^{\lambda+\alpha}} dy \leq |x|^s C \rightarrow 0, \quad \text{as } |x| \rightarrow 0.$$

To deal with K_1 , we change the variables $y = |x|z$ on the first term to deduce that

$$\begin{aligned} K_1 &= (A_0 + o(1))^p \int_{B_{\delta/|x|}} \frac{dz}{|z|^{\alpha(p+1)} |(x/|x|) - z|^\lambda} \\ &\rightarrow (A_0)^p \int_{R^n} \frac{dz}{|z|^{\alpha(p+1)} |e - z|^\lambda} \\ &= A_3 \quad \text{as } |x| \rightarrow 0, \quad \delta \rightarrow 0. \end{aligned}$$

Here, e is defined as a unit vector in R^n . Consequently,

$$|x|^{s+\beta} v(x) = |x|^{\alpha(p+1)+\beta+\lambda-n} v(x) \rightarrow A_3 \quad \text{as } |x| \rightarrow 0.$$

The proof of Proposition 2.6 is complete.

3. Singularity analysis in Case II. In this section, assume that $(u, v) \in L^{p+1}(R^n) \times L^{q+1}(R^n)$ is a pair of positive solutions of the system (1.4) satisfying (1.5) with $p \geq 1$, $q \geq 1$, $pq \neq 1$ and $\beta < 0$, $\alpha + \beta \geq 0$.

In Case II, it seems very difficult to prove (2.4) by means of Hölder’s inequality as in the proof of Proposition 2.3, since $\lambda + (p + 1)\alpha > n - \beta$ means $p\alpha + \bar{\lambda} - n > 0$ and by Proposition 1.1 $1/s$ cannot be close to 0.

However, if $n - \beta < \lambda + \alpha(p + 1) < n + \alpha$, then Hölder’s inequality can estimate the growth rate of $v(x)$ roughly when $|x| \rightarrow 0$. Then we can use this growth rate to deduce the limit of $u(x)|x|^{-\alpha}$.

Proposition 3.1. *If $n - \beta < \lambda + \alpha(p + 1) < n + \alpha$, then u and v are given by (1.10) and (1.11).*

Proof. First, we claim that (1.10) holds.

When $y \in R^n \setminus B_1$, we have $1/(|y|^\alpha |x - y|^\lambda) \leq C/|y|^{\alpha+\lambda}$. Using Proposition 1.1, we obtain

$$(3.1) \quad \int_{R^n \setminus B_1} \frac{u^p(y) dy}{|y|^\alpha |x - y|^\lambda} \leq C \int_{R^n \setminus B_1} \frac{u^p(y) dy}{|y|^{\alpha+\lambda}} < \infty.$$

On the other hand, Hölder’s inequality shows that

$$\int_{B_1} \frac{u^p(y) dy}{|y|^\alpha |x - y|^\lambda} \leq \left(\int_{B_1} u^{pr}(y) dy \right)^{1/r} \left(\int_{B_1} \frac{dy}{|y|^{r'\alpha} |x - y|^{r'\lambda}} \right)^{1/r'}$$

where $1/r + 1/r' = 1$. In view of $\lambda + p\alpha < n$, we can choose $1/r = (p\alpha + \varepsilon)/n$ such that $r'\alpha < n$ and

$$(3.2) \quad r'\lambda < n$$

when ε is sufficiently small. Hence,

$$(3.3) \quad \begin{aligned} \int_{B_1} \frac{u^p(y) dy}{|y|^\alpha |x - y|^\lambda} &\leq C \left(\int_{B_1} \frac{dy}{|y|^{r'\alpha} |x - y|^{r'\lambda}} \right)^{1/r'} \\ &\leq \frac{C}{|x|^{\alpha + \lambda - n/r'}} \\ &= \frac{C}{|x|^{p\alpha + \lambda + \alpha - n + \varepsilon}}. \end{aligned}$$

Combining (3.1) and (3.3) yields $v(x) \leq C/|x|^{p\alpha + \bar{\lambda} - n + \varepsilon}$. Therefore, noting $|x|/2 \leq |y| \leq 3|x|/2$ for $y \in B(x, |x|/2)$ and (2.2), we can see that as $|x| \rightarrow 0$,

$$(3.4) \quad \begin{aligned} \int_{B(x, |x|/2)} \frac{v^q(y) dy}{|y|^\beta |x - y|^\lambda} &\leq C \int_{B(x, |x|/2)} \frac{dy}{|y|^{\beta + q(p\alpha + \bar{\lambda} - n + \varepsilon)} |x - y|^\lambda} \\ &\leq \frac{C}{|x|^{\beta + q(p\alpha + \bar{\lambda} - n + \varepsilon)}} \int_{B(x, |x|/2)} \frac{dy}{|x - y|^\lambda} \\ &\leq C|x|^{n - q(p\alpha + \bar{\lambda} - n + \varepsilon) - (\lambda + \beta)} \rightarrow 0. \end{aligned}$$

In addition, when $\delta \rightarrow 0$,

$$(3.5) \quad \begin{aligned} \int_{B_\delta \setminus B(x, |x|/2)} \frac{v^q(y) dy}{|y|^\beta |x - y|^\lambda} &\leq C \int_{B_\delta \setminus B(x, |x|/2)} \frac{v^q(y) dy}{|y|^{\beta + \lambda}} \\ &\leq C(\delta) \rightarrow 0. \end{aligned}$$

Similar to the argument given in the proof of Proposition 2.3, we have

$$\left| \int_{R^n \setminus B_\delta} \left[\frac{v^q(y)}{|y|^\beta |x - y|^\lambda} - \frac{v^q(y)}{|y|^{\beta + \lambda}} \right] dy \right| \rightarrow 0, \quad \text{as } |x| \rightarrow 0.$$

Combining this consequence with (3.4) and (3.5), we get (1.10). Then in view of $n - \beta < \lambda + \alpha(p + 1) < n + \alpha$, (1.11) can also be deduced from the same proof as for Proposition 2.6. This proves Proposition 3.1.

Remark 3.1. The proof of Proposition 3.1 depends essentially on the condition $(p + 1)\alpha + \lambda < n + \alpha$. Otherwise, (3.2) is not true. This implies that the integral $\int_{B_1} dy / (|y|^{r'\alpha} |x - y|^{r'\lambda})$ is not finite near the point x . Therefore, it seems difficult to derive the conclusion of Proposition 3.1 when $(p + 1)\alpha + \lambda \geq n + \alpha$, if we try to apply the idea in the proof of Proposition 3.1.

4. Singularity analysis in Case III. According to Proposition 3.1, we only need to consider the case of $\lambda + p\alpha \geq n$.

The proof of Proposition 3.1 shows that (2.3) can still be derived without (2.4), since (2.4) is not sufficiently accurate. To obtain (2.3) for $\beta < 0$, we sharpen the estimation (2.4) to

$$(4.1) \quad |x|^\alpha u(x) = \int_{R^n} \frac{v^q(y) dy}{|x - y|^\lambda |y|^\beta} \leq C, \quad \text{for all } x \in B_1.$$

Proposition 4.1. *If $\alpha + \beta(1 + (1/q)) \geq 0$, then (4.1) is true.*

Proof. Define $v_1(x) = 0$ for $x \in R^n \setminus B_2$ and $v_1(x) = |x|^{-\beta/q} v(x)$ for $x \in B_2$. In view of $\lambda + p\alpha \geq n$ and $1/(p + 1) > \alpha/n$, it follows that $\lambda > \alpha$. So,

$$(4.2) \quad \lambda + \beta + \frac{\beta}{q} > \alpha + \beta + \frac{\beta}{q} \geq 0.$$

Hence, we can apply the WHLS inequality to

$$v_1(x) = \frac{1}{|x|^{\beta(1+(1/q))}} \int_{R^n} \frac{u^p(y) dy}{|x - y|^\lambda |y|^\alpha}, \quad x \in B_2$$

to obtain

$$\|v_1\|_{L^s(B_2)} \leq C \|u^p\|_{ns/(n+(n-\bar{\lambda}_0)s)},$$

where $\bar{\lambda}_0 = \bar{\lambda} + (\beta/q)$ and $1/s \in ((p\alpha + \bar{\lambda}_0 - n)/n, (\bar{\lambda}_0)/n)$. Then,

$$\frac{n + (n - \bar{\lambda}_0)s}{nps} = \frac{1}{p} \left(\frac{1}{s} + \frac{n - \bar{\lambda}_0}{n} \right) > \frac{\alpha}{n}.$$

By Proposition 1.1, $\|u^p\|_{ns/(n+(n-\bar{\lambda}_0)s)} < \infty$. This implies

$$(4.3) \quad v_1 \in L^s(B_2) \quad \text{for } \frac{1}{s} > \frac{p\alpha + \bar{\lambda}_0 - n}{n}.$$

We next apply (4.3) to deduce (4.1). If $x \in B_1, y \in R^n \setminus B_2$,

$$\int_{R^n \setminus B_2} \frac{v^q(y) dy}{|y|^\beta |x - y|^\lambda} \leq C \int_{R^n \setminus B_2} \frac{v^q(y) dy}{|y|^{\beta+\lambda}} \leq C$$

in view of Proposition 2.1. Therefore, by Hölder's inequality,

$$\begin{aligned} |x|^\alpha u(x) &= \int_{R^n \setminus B_2} \frac{v^q(y) dy}{|y|^\beta |x - y|^\lambda} + \int_{B_2} \frac{v_1^q(y) dy}{|x - y|^\lambda} \\ &\leq C + \left(\int_{B_2} v_1^{qt}(y) dy \right)^{1/t} \left(\int_{B_2} \frac{dy}{|x - y|^{\lambda t'}} \right)^{1/t'} \end{aligned}$$

for $(1/t) + (1/t') = 1$. As a consequence of (4.3), we can choose t such that $1/(qt) > (p\alpha + \bar{\lambda}_0 - n)/n$. Once we verify $\lambda t' < n$, then the integrals above are finite, and hence (4.1) is true. In fact, if we choose $1/t = (q(p\alpha + \bar{\lambda}_0 - n) + \varepsilon)/n$ for ε sufficiently small, then $\lambda t' < n$ can be deduced by (2.2). Thus, the proof of Proposition 4.1 is complete.

Remark 4.1. Using the idea of the proof of Proposition 4.1, we can improve the condition $\alpha + \beta(1 + (1/q)) \geq 0$ to the weaker one: $\alpha + \beta(1 + (1/q(p + 1))) \geq 0$.

Proposition 4.2. *If $\alpha + \beta(1 + (1/q(p + 1))) \geq 0$, then (4.1) remains valid.*

Proof. Define $u_1(x) = 0$ for $x \in R^n \setminus B_2$, and

$$u_1(x) = |x|^{\alpha+\beta} u(x) = \frac{1}{|x|^{-\beta}} \int_{R^n} \frac{v^q(y) dy}{|x - y|^\lambda |y|^\beta}, \quad x \in B_2.$$

Applying the WHLS inequality, we have that for $1/r_1 \in ((q(p\alpha + \bar{\lambda} - n) + \lambda - n)/n, (\lambda/n))$,

$$\|u_1\|_{L^{r_1}(B_2)} \leq C \|v^q\|_{nr_1/(n+(n-\lambda)r_1)}.$$

Take r_1 satisfying $(n + (n - \lambda)r_1)/nr_1 = (q(p\alpha + \bar{\lambda} - n) + \varepsilon)/n$ for $\varepsilon > 0$ sufficiently small. By Proposition 1.1,

$$(4.4) \quad u_1 \in L^{r_1}(B_2) \quad \text{with} \quad \frac{1}{r_1} = \frac{q(p\alpha + \bar{\lambda} - n) + \lambda - n + \varepsilon}{n}.$$

Case A: $\bar{\lambda}_1 := \bar{\lambda} + (\beta/q) + p(\alpha + \beta) \leq n$.

Recalling the definition of v_1 , when $x \in B_{3/2}$ we have

$$\begin{aligned} v_1(x) &= \frac{1}{|x|^{\beta(1+(1/q))}} \int_{R^n \setminus B_2} \frac{u^p(y) dy}{|x - y|^\lambda |y|^\alpha} \\ &\quad + \frac{1}{|x|^{\beta(1+(1/q))}} \int_{B_2} \frac{u_1^p(y) dy}{|x - y|^\lambda |y|^{\alpha+p(\alpha+\beta)}} \\ &:= v_{11} + v_{12}. \end{aligned}$$

By Proposition 2.1, for $\beta < 0$,

$$(4.5) \quad \|v_{11}\|_{L^\infty(B_{3/2})} \leq C.$$

We now prove the integrability of v_{12} using the WHLS inequality and (4.4). To use the WHLS inequality, we need to verify the following condition

$$(4.6) \quad \lambda + \beta + \frac{\beta}{q} > 0.$$

In fact, (4.2) is not valid since $\alpha + \beta + (\beta/q) \geq 0$ does not hold. However, from $1/(q + 1) < *(\lambda + \beta)/n \leq (\lambda + \beta)/\lambda$, $q + 1 > (\lambda/\lambda + \beta)$, proving (4.6).

Moreover, $\bar{\lambda}_1 \leq n$, and $\alpha + \beta + (\beta/q) + p(\alpha + \beta) \geq 0$ is implied by $\alpha + \beta(1 + (1/(q(p + 1)))) \geq 0$. Applying the WHLS inequality, we have for $(1/s_1) = (p[q(p\alpha + \bar{\lambda} - n) + \lambda - n + \varepsilon] + \bar{\lambda}_1 - n)/n$,

$$\|v_{12}\|_{L^{s_1}(B_{3/2})} \leq C \|u_1^p\|_{ns_1/(n+(n-\bar{\lambda}_1)s_1)}.$$

Since $(n + (n - \bar{\lambda}_1)s_1)/(nps_1) = (1/r_1)$, (4.4) implies $v_{12} \in L^{s_1}(B_{3/2})$. Combined with the estimate for v_{11} , we have

$$(4.7) \quad v_1 \in L^{s_1}(B_{3/2}) \quad \text{with} \quad \frac{1}{s_1} = \frac{p[q(p\alpha + \bar{\lambda} - n) + \lambda - n + \varepsilon] + \bar{\lambda}_1 - n}{n}.$$

Then, by Hölder's inequality,

$$(4.8) \quad \begin{aligned} |x|^\alpha u(x) &= \int_{B_{3/2}} \frac{v_1^q(y) dy}{|x - y|^\lambda} + \int_{\mathbb{R}^n \setminus B_{3/2}} \frac{v^q(y) dy}{|x - y|^\lambda |y|^\beta} \\ &\leq \|v_1^q\|_{L^{t_1}(B_{3/2})} \left(\int_{B_{3/2}} \frac{dy}{|x - y|^{\lambda t'_1}} \right)^{1/t'_1} + C, \end{aligned}$$

where $1/(t_1) + 1/(t'_1) = 1$, $x \in B_1$. To obtain (4.1), we need to prove the integrals in (4.8) are finite. Noticing (4.7), we can take t_1 such that $qt_1 = s_1$. One only needs to verify $\lambda t'_1 < n$. In fact, it is sufficient to derive

$$(4.9) \quad \lambda < n - pq[q(p\alpha + \bar{\lambda} - n) + \lambda - n] - q(\bar{\lambda}_1 - n),$$

since ε can be chosen sufficiently small. In fact, (4.9) is true if and only if

$$\begin{aligned} n - \lambda &> pq[q(p\alpha + \bar{\lambda} - n) + \lambda - n] + q(\bar{\lambda} + p(\alpha + \beta) - n) + \beta \\ &= pq[(q + 1)(\lambda - n) + (p + 1)(q + 1)\alpha \\ &\quad - (p + 1)\alpha + (q + 1)\beta - \beta] \\ &\quad + q(\lambda - n) + (p + 1)(q + 1)(\alpha + \beta) \\ &\quad - (p + 1)(\alpha + \beta) + \beta. \end{aligned}$$

Multiplying both sides by $1/[(p + 1)(q + 1)]$, we see that

$$\begin{aligned} \frac{n - \lambda}{p + 1} &> pq \left[\frac{\lambda - n}{p + 1} + \alpha - \frac{\alpha}{q + 1} + \frac{\beta}{p + 1} - \frac{\beta}{(p + 1)(q + 1)} \right] \\ &\quad + (\alpha + \beta) - \frac{\alpha + \beta}{q + 1} + \frac{\beta}{(p + 1)(q + 1)}. \end{aligned}$$

In view of $1/(p + 1) + 1/(q + 1) = \bar{\lambda}/n$ and $\alpha/n < 1/(p + 1)$, one has $(\lambda - n)/(p + 1) + \alpha - [\alpha/(q + 1)] + [\beta/(p + 1)] = ((\alpha/n) - (1/p + 1))$

$(n - \bar{\lambda}) < 0$. Therefore, (4.9) holds as long as $(n - \lambda)/(p + 1) \geq [(1 - pq)\beta]/[(p + 1)(q + 1)] + (\alpha + \beta) - (\alpha + \beta)/(q + 1)$. This is equivalent to $(n - \bar{\lambda})/(p + 1) + (\alpha + \beta)/(p + 1) + (\alpha + \beta)/(q + 1) \geq [(\bar{\lambda})/n]\beta + \alpha$. Noting $1/(p + 1) + 1/(q + 1) = (\bar{\lambda})/n$ and $1/(p + 1) > (\alpha/n)$, we can see easily that the inequality above holds.

Case B: $\bar{\lambda}_1 > n$. In this case the WHLS inequality cannot be applied to v_{12} to derive (4.1). We define another function v_2 instead of v_1 . For $\sigma > 0$, define $v_2(x) = 0$ for $x \in R^n \setminus B_{3/2}$, and $v_2(x) = |x|^{-(\beta/q)+\sigma} v(x)$ for $x \in B_{3/2}$. Clearly, when $x \in B_{3/2}$,

$$\begin{aligned} v_2(x) &= \frac{1}{|x|^{\beta+(\beta/q)-\sigma}} \int_{B_2} \frac{u_1^p(y) dy}{|x - y|^\lambda |y|^{\alpha+p(\alpha+\beta)}} \\ &\quad + \frac{1}{|x|^{\beta+(\beta/q)-\sigma}} \int_{R^n \setminus B_2} \frac{u^p(y) dy}{|x - y|^\lambda |y|^\alpha} \\ &:= v_{21} + v_{22}. \end{aligned}$$

Similar to (4.5), $\|v_{21}\|_{L^\infty(B_{3/2})} < \infty$. To use the WHLS inequality to estimate v_{22} , we take

$$\sigma := \min \left\{ \alpha + \beta + \frac{\beta}{q} + p(\alpha + \beta), \lambda + \beta + \frac{\beta}{q} \right\}.$$

Using $\bar{\lambda}_1 > n$ and (4.6), we see that $\sigma > 0$. And, we claim that

$$\bar{\lambda}_2 := \bar{\lambda}_1 - \sigma \leq n.$$

For when $\alpha + \beta + (\beta/q) + p(\alpha + \beta) \leq \lambda + \beta + (\beta/q)$, $\bar{\lambda}_2 = \lambda \leq n$; and when $\alpha + \beta + (\beta/q) + p(\alpha + \beta) > \lambda + \beta + (\beta/q)$, $\bar{\lambda}_2 = (p + 1)\alpha + p\beta \leq (p + 1)\alpha < n$.

Thus, applying the WHLS inequality, for $1/s_2 = (p[q(p\alpha + \bar{\lambda} - n) + \lambda - n + \varepsilon] + \bar{\lambda}_2 - n)/n$,

$$\|v_2\|_{L^{s_2}(B_{3/2})} \leq C \|u_1^p\|_{ns_2/(n+(n-\bar{\lambda}_2)s_2)}.$$

Since $(n + (n - \bar{\lambda}_1)s_2)/ns_2 = (p/r_1)$, (4.4) implies $v_{22} \in L^{s_2}(B_{3/2})$. Thus,

$$v_2 \in L^{s_2}(B_{3/2}) \quad \text{with} \quad \frac{1}{s_2} = \frac{p[q(p\alpha + \bar{\lambda} - n) + \lambda - n + \varepsilon] + \bar{\lambda}_2 - n}{n}.$$

Using Hölder’s inequality, we get

$$\begin{aligned}
 |x|^\alpha u(x) &= \int_{B_{3/2}} \frac{v_2^q(y) dy}{|x-y|^\lambda |y|^{q\sigma}} + \int_{R^n \setminus B_{3/2}} \frac{v^q(y) dy}{|x-y|^\lambda |y|^\beta} \\
 &\leq \|v_2^q\|_{L^{t_2}(B_{3/2})} \left(\int_{B_{3/2}} \frac{dy}{|y|^{q\sigma t_2} |x-y|^{\lambda t_2}} \right)^{1/t_2} + C,
 \end{aligned}$$

where $(1/t_2) + (1/t_2') = 1$, $x \in B_1$. Take t_2 such that $qt_2 = s_2$. Then $\|v_2^q\|_{t_2} < \infty$. To show $\int_{R^n} (dy/|y|^{q\sigma t_2} |x-y|^{\lambda t_2}) < \infty$, it is sufficient to verify

$$(4.10) \quad \lambda + q\sigma < n - pq[q(p\alpha + \bar{\lambda} - n) + \lambda - n] - q(\bar{\lambda}_2 - n),$$

since (4.10), together with $qt_2 = s_2$, leads to $(\lambda + q\sigma)t_2' < n$.

To obtain (4.10), we consider two subcases:

$$(i) \quad \sigma = \alpha + \beta + \frac{\beta}{q} + p(\alpha + \beta); \quad (ii) \quad \sigma = \lambda + \beta + \frac{\beta}{q}.$$

Subcase (i). Equation (4.10) implies $(p + 1)(q + 1)(\alpha + \beta) + \beta < (q + 1)(n - \lambda) + (p + 1)(\alpha + \beta) - pq[(pq - 1)\alpha + (q + 1)(\bar{\lambda} - n) - \beta]$. This holds if and only if $(\alpha + \beta) + [\beta/(p + 1)(q + 1)] < [(n - \lambda)/(p + 1)] + [(\alpha + \beta)/(q + 1)] - pq[(\alpha/n) - (1/p + 1)(n - \lambda) - [\beta/(p + 1)(q + 1)]]$. Since $\alpha/n < 1/(p + 1)$, this can be deduced from $(\alpha + \beta) + [\beta/(p + 1)(q + 1)] \leq [(n - \bar{\lambda})/(p + 1)] + [(\alpha + \beta)/(p + 1)] + [(\alpha + \beta)/(q + 1)] + [pq\beta/(p + 1)(q + 1)]$. Noting $(1/p + 1) + (1/q + 1) = \lambda/n$, we see that the inequality above is equivalent to $[(n - \bar{\lambda})/(p + 1)] - [(n - \bar{\lambda})/n](\alpha + \beta) + [(pq - 1)\beta/(p + 1)(q + 1)] \geq 0$. Because $[(pq - 1)/(p + 1)(q + 1)] = (n - \bar{\lambda})/n$, the above inequality is easy to obtain knowing $(1/p + 1) > (\alpha/n)$.

Subcase (ii). Equation (4.10) implies $pq[pq\alpha + (q + 1)(\bar{\lambda} - n) - (\alpha + \beta)] + (p + 1)(q + 1)\alpha + pq\beta < (q + 1)(n - \lambda - \beta) + (p + 1)\alpha$. This is true if and only if $pq[(pq - 1)\alpha - (q + 1)(n - \bar{\lambda})] < (q + 1)(n - \bar{\lambda}) + [(p + 1) + (q + 1)]\alpha - (p + 1)(q + 1)\alpha$. Multiplying by $[1/(p + 1)(q + 1)]$, we see that the above inequality is equivalent to $(pq - 1)[(\alpha/n) - (1/p + 1)](n - \bar{\lambda}) < 0$.

Putting the two cases together completes the proof of Proposition 4.2.

Once (4.1) is verified, it can be used to deduce (2.3). Thus, we have

Proposition 4.3. *In Case III, (1.10) holds as $|x| \rightarrow 0$.*

Proof. For any given $\delta > 0$, for all sufficiently small $|x|$,

$$\begin{aligned}
 (4.11) \quad & \left| \int_{R^n} \frac{v^q(y)}{|y|^\beta |x-y|^\lambda} dy - \int_{R^n} \frac{v^q(y)}{|y|^{\lambda+\beta}} dy \right| \\
 & \leq \int_{B_\delta} \frac{v^q(y)}{|y|^\beta |x-y|^\lambda} dy + \int_{B_\delta} \frac{v^q(y)}{|y|^{\lambda+\beta}} dy \\
 & \quad + \int_{R^n \setminus B_\delta} \left| \frac{v^q(y)}{|y|^\beta |x-y|^\lambda} - \frac{v^q(y)}{|y|^{\lambda+\beta}} \right| dy \\
 & =: J_1 + J_2 + J_3.
 \end{aligned}$$

Equation (4.1) implies $u(x) \leq C|x|^{-\alpha}$ in B_1 . From this we have

$$\begin{aligned}
 v(x) &= \frac{1}{|x|^\beta} \int_{R^n} \frac{u^p(y)}{|x-y|^\lambda |y|^\alpha} dy \\
 &\leq \frac{C}{|x|^\beta} \int_{B_1} \frac{dy}{|x-y|^\lambda |y|^{(p+1)\alpha}} + \frac{1}{|x|^\beta} \int_{R^n \setminus B_1} \frac{u^p(y)}{|x-y|^\lambda |y|^\alpha} dy \\
 &\leq \frac{C}{|x|^{p\alpha + \lambda - n}},
 \end{aligned}$$

for $x \in B_\delta$. Thus, $J_1 = \int_{B_\delta} [v^q(y) dy / |x-y|^\lambda |y|^\beta] \leq C \int_{B_\delta} [dy / |x-y|^\lambda |y|^{q(p\alpha + \lambda - n) + \beta}]$. In view of (2.2), we see that $J_1 \rightarrow 0$ as $\delta \rightarrow 0$. By an argument analogous to that for Proposition 2.2, we can again use Hölder’s inequality to prove that $J_2 \rightarrow 0$ as $\delta \rightarrow 0$. Applying Lebesgue’s bounded convergence theorem, we obtain that for each $\delta > 0$, $J_3 \rightarrow 0$ as $|x| \rightarrow 0$. Inserting the estimates of J_1, J_2 and J_3 into (4.11), we can see easily that (1.10) holds as $|x| \rightarrow 0$. This completes the proof of Proposition 4.3.

Proposition 4.4. *In Case III, v satisfies (1.11).*

Proof. By Proposition 4.3, we have (2.5). Then by Proposition 2.6, (1.11) follows when $|x| \rightarrow 0$, proving Proposition 4.4.

5. Proof of Theorem 1.3. In this section, assume that $(u, v) \in L^{p+1}(R^n) \times L^{q+1}(R^n)$ is a pair of positive solutions of the system (1.4)–(1.5), $p \geq 1, q \geq 1, pq \neq 1, \alpha + \beta \geq 0$.

(i) Suppose (H3) holds: $1/(p+1) \geq (\lambda + \alpha)/2n$, $1/(q+1) \geq (\lambda + \beta)/2n$ and $\lambda q + \beta(q+1) > n$.

Step 1. By the Kelvin transform, we change the problem from at the center to at infinity.

Define the Kelvin type transform by

$$(5.1) \quad \begin{cases} \bar{u}(x) = 1/|x|^{2n/(p+1)} u(x/|x|^2) \\ \bar{v}(x) = 1/|x|^{2n/(q+1)} v(x/|x|^2), \end{cases}$$

which means

$$(5.2) \quad \begin{cases} u(x) = 1/|x|^{2n/(p+1)} \bar{u}(x/|x|^2) \\ v(x) = 1/|x|^{2n/(q+1)} \bar{v}(x/|x|^2). \end{cases}$$

This implies

$$\|\bar{u}\|_{L^{p+1}(R^n)} = \|u\|_{L^{p+1}(R^n)}, \quad \|\bar{v}\|_{L^{q+1}(R^n)} = \|v\|_{L^{q+1}(R^n)}.$$

Inserting (5.1) into (1.4) gives a new system (\bar{u}, \bar{v}) from the system for (u, v) as follows:

$$(5.3) \quad \begin{cases} \bar{u}(x) = 1/|x|^{\bar{\alpha}} \int_{R^n} [\bar{v}^q(y)/|y|^{\bar{\beta}} |x-y|^\lambda] dy \\ \bar{v}(x) = 1/|x|^{\bar{\beta}} \int_{R^n} [\bar{u}^p(y)/|y|^{\bar{\alpha}} |x-y|^\lambda] dy, \end{cases}$$

where $\bar{\alpha} = 2n/(p+1) - \alpha - \lambda$, $\bar{\beta} = (2n/q+1) - \beta - \lambda$. It is easy to see that $\bar{\alpha} + \bar{\beta} = \alpha + \beta \geq 0$, $1/(p+1) - (\lambda/n) < (\bar{\alpha}/n) < 1/(p+1)$, $1/(q+1) + 1/(p+1) = (\lambda + \bar{\alpha} + \bar{\beta})/n$. In addition, $1/(p+1) \geq (\lambda + \alpha)/2n$ and $1/(q+1) \geq (\lambda + \beta)/2n$ imply $\bar{\alpha} \geq 0$ and $\bar{\beta} \geq 0$, respectively.

Step 2. We prove $u(x) \simeq B_0/|x|^{\lambda+\alpha}$ as $|x| \rightarrow \infty$.

Since $\lambda q + \beta(q+1) > n$ implies $\lambda + \bar{\beta}(q+1) < n$, using Theorem 1.4 from [15],

$$(5.4) \quad \bar{u}(x) \simeq \frac{\bar{A}_0}{|x|^{\bar{\alpha}}}, \quad \text{for small } |x|$$

where $\bar{A}_0 = \int_{R^n} [\bar{v}^q(y)/|y|^{\lambda+\bar{\beta}}] dy$. By virtue of (5.2) and (5.4), for large $|x|$,

$$u(x) = \frac{1}{|x|^{2n/(p+1)}} \bar{u}\left(\frac{x}{|x|^2}\right) \simeq \frac{B_0}{|x|^{2n/(p+1)-\bar{\alpha}}} = \frac{B_0}{|x|^{\lambda+\alpha}}.$$

Here, B_0 is defined from \bar{A}_0 by a change of variable and is computed as follows.

$$B_0 = \int_{R^n} \frac{\bar{v}^q(z/|z|^2)}{|z|^{-\lambda-\bar{\beta}}} \frac{1}{|z|^{2n}} dz = \int_{R^n} \frac{v^q(z)}{|z|^\beta} dz.$$

This establishes (1.13).

Step 3. Note that

$$(5.5) \quad (a) \lambda p + \alpha(p + 1) > n \iff \lambda + \bar{\alpha}(p + 1) < n;$$

$$(5.6) \quad (b) \lambda p + \alpha(p + 1) = n \iff \lambda + \bar{\alpha}(p + 1) = n;$$

$$(5.7) \quad (c) \lambda p + \alpha(p + 1) < n \iff \lambda + \bar{\alpha}(p + 1) > n.$$

Case (a): Using (5.5), applying Theorem 1.4 from [15], as $|x| \rightarrow 0$, $\bar{v}(x) \simeq \bar{A}_1/|x|^{\bar{\beta}}$, where $\bar{A}_1 = \int_{R^n} (\bar{u}^p(y))/(|y|^{\lambda+\bar{\alpha}}) dy$. Thus for large $|x|$, we get

$$(5.8) \quad v(x) = \frac{1}{|x|^{2n/(q+1)}} \bar{v}\left(\frac{x}{|x|^2}\right) \simeq \frac{B_1}{|x|^{2n/(q+1)-\bar{\beta}}} = \frac{B_1}{|x|^{\lambda+\beta}},$$

where $B_1 := \int_{R^n} (u^p(y))/|y|^\alpha dy$ can be calculated from \bar{A}_1 .

Case (b): In view of Theorem 1.4 in [15] with (5.6), for small $|x|$, $\bar{v}(x) \simeq (\bar{A}_2 |\ln |x||)/|x|^{\bar{\beta}}$, where $\bar{A}_2 = |S^{n-1}| (\bar{A}_0)^p$. For large $|x|$,

$$(5.9) \quad v(x) \simeq \frac{B_2 |\ln |x||}{|x|^{\lambda+\beta}}$$

where $B_2 := |S^{n-1}| (B_0)^p = |S^{n-1}| (\int_{R^n} (v^q(y))/|y|^\beta dy)^p$.

Case (c): From (5.7), by [15, Theorem 1.4], $\bar{v}(x) \simeq \bar{A}_3/|x|^{\bar{\alpha}(p+1)+\bar{\beta}+\lambda-n}$ for small $|x|$, where $\bar{A}_3 = (\bar{A}_0)^p \int_{R^n} (dz/|z|^{\bar{\alpha}(p+1)} |e - z|^\lambda)$. Consequently, by (5.2), for large $|x|$,

$$(5.10) \quad v(x) \simeq \frac{1}{|x|^{2n/(q+1)}} \frac{B_3}{|x|^{-\bar{\alpha}(p+1)-\bar{\beta}-\lambda+n}} = \frac{B_3}{|x|^{(\alpha+\lambda)(p+1)+\beta-n}},$$

where $B_3 = (B_0)^p \int_{R^n} dz/(|z|^{2n-(\alpha+\lambda)(p+1)} |e - z|^\lambda) = (\int_{R^n} (v^q(y))/|y|^\beta dy)^p \int_{R^n} (dz/|z|^{2n-(\alpha+\lambda)(p+1)} |e - z|^\lambda)$.

Combining (5.8)–(5.10), (1.14) follows.

(ii) Consider the cases (H4) and (H5).

It is essentially the same as the proof of (i). We still apply the Kelvin transform (5.1) to derive the integral system (5.3). Since $1/(q+1) < (\lambda + \beta)/2n$ implies $\bar{\beta} < 0$, from $\bar{\alpha} + \bar{\beta} \geq 0$ it follows that $\bar{\alpha} > 0$. Noting Remark 1.3, we use Theorem 1.2 to see that (1.10) and (1.11) hold for (\bar{u}, \bar{v}) . Finally, using (5.2), we obtain (1.13) and (1.14).

REFERENCES

1. L. Caffarelli, B. Gidas and J. Spruck, *Asymptotic symmetry and local behavior of semilinear elliptic equations with critical Sobolev growth*, Comm. Pure Appl. Math. **42** (1989), 271–297.
2. A. Chang and P. Yang, *On uniqueness of an n -th order differential equation in conformal geometry*, Math. Res. Letters **4** (1997), 1–12.
3. W. Chen, C. Jin, C. Li and J. Lim, *Weighted Hardy-Littlewood-Sobolev inequalities and systems of integral equations*, Discrete Continuous Dynamics Systems **5** (2005), 164–173.
4. W. Chen and C. Li, *Classification of solutions of some nonlinear elliptic equations*, Duke Math. J. **63** (1991), 615–622.
5. ———, *A priori estimates for prescribing scalar curvature equations*, Annals Math. **145** (1997), 547–564.
6. ———, *Regularity of solutions for a system of integral equations*, Comm. Pure Appl. Anal. **4** (2005), 1–8.
7. ———, *The best constant in a weighted Hardy-Littlewood-Sobolev inequality*, Proc. Amer. Math. Soc. **136** (2008), 955–962.
8. W. Chen, C. Li and B. Ou, *Classification of solutions for an integral equation*, Comm. Pure Appl. Math. **59** (2006), 330–343.
9. ———, *Classification of solutions for a system of integral equations*, Comm. Partial Differential Equations **30** (2005), 59–65.
10. ———, *Qualitative properties of solutions for an integral equation*, Discrete Continuous Dynamics Sys. **12** (2005), 347–354.
11. L. Fraenkel, *An introduction to maximum principles and symmetry in elliptic problems*, Cambridge University Press, New York, 2000.
12. B. Gidas, W.M. Ni and L. Nirenberg, *Symmetry of positive solutions of nonlinear elliptic equations in R^n* (collected in the book *Mathematical analysis and applications*, vol. 7a of the book series *Advances in Mathematics. Supplementary Studies*, Academic Press, New York, 1981).
13. C. Jin and C. Li, *Symmetry of solutions to some systems of integral equations*, Proc. Amer. Math. Soc. **134** (2006), 1661–1670.
14. ———, *Qualitative analysis of some systems of integral equations*, Calc. Var. PDEs **26** (2006), 447–457.

- 15. Y. Lei and C. Ma, *Asymptotic behavior for solutions of some integral equations*, Comm. Pura Appl. Anal. **10** (2011), 193–207.
- 16. C. Li, *Local asymptotic symmetry of singular solutions to nonlinear elliptic equations*, Invent. Math. **123** (1996), 221–231.
- 17. C. Li and J. Lim, *The singularity analysis of solutions to some integral equations*, Comm. Pure Appl. Anal. **6** (2007), 453–464.
- 18. E. Lieb, *Sharp constants in the Hardy-Littlewood-Sobolev and related inequalities*, Annals Math. **118** (1983), 349–374.
- 19. E. Lieb and M. Loss, *Analysis*, 2nd edition, American Mathematical Society, Rhode Island, 2001.
- 20. B. Ou, *A Remark on a singular integral equation*, Houston J. Math. **25** (1999), 181–184.
- 21. J. Serrin, *A symmetry problem in potential theory*, Arch. Rational Mech. Anal. **43** (1971), 304–318.
- 22. E.M. Stein and G. Weiss, *Introduction to Fourier analysis on Euclidean spaces*, Princeton University Press, Princeton, 1971.
- 23. ———, *Fractional integrals in n -dimensional Euclidean space*, J. Math. Mech. **7** (1958).
- 24. J. Wei and X. Xu, *Classification of solutions of higher order conformally invariant equations*, Math. Ann. **313** (1999), 207–228.

DEPARTMENT OF APPLIED MATHEMATICS, UNIVERSITY OF COLORADO AT BOULDER, BOULDER, CO 80309
Email address: Jerrold.Bebernes@colorado.edu

INSTITUTE OF MATHEMATICS, SCHOOL OF MATHEMATICAL SCIENCES, NANJING NORMAL UNIVERSITY, NANJING, 210097, CHINA
Email address: leiyutian@nynu.edu.cn

DEPARTMENT OF APPLIED MATHEMATICS, UNIVERSITY OF COLORADO AT BOULDER, BOULDER, CO 80309
Email address: cli@colorado.edu